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RIEY (A—TUEHD D5

(BT mm)
EE-OR% ENEF A N L L2 D
VWP 50 60 500 600 5000 700 100
VWP 75 89 500 700 5000 700 100
VWP 100 114 600 700 5000 700 100
HPP 50 63 500 — 5000 — —
HPP 75 90 500 — 5000 — —
HPP 100 125 500 — 5000 — —
HPP 150 180 600 — 5000 — —
HPP 200 250 700 — 5000 — —
DCIP 75 93 500 700 4000 700 300
DCIP 100 118 600 700 4000 700 300
DCIP 150 169 600 800 5000 700 300
DCIP 200 220 700 800 5000 700 300
DCIP 250 272 700 850 5000 700 300
DCIP 300 323 700 900 6000 700 300
DCIP 350 374 800 1100 6000 700 300
DCIP 400 426 900 1150 6000 700 350
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TEBRREEAT 55

(BAfL  mm)
EE-OR% 4 E B B’ L L2 D’
VWP 50 60 900 900 5000 500 100
VWP 75 89 900 900 5000 500 100
VWP 100 114 900 900 5000 500 100
HPP 50 63 900 — 5000 — —
HPP 75 90 900 — 5000 — —
HPP 100 125 900 — 5000 — —
HPP 150 180 900 — 5000 — —
HPP 200 250 900 — 5000 — —
DCIP 75 93 900 900 4000 500 300
DCIP 100 118 900 900 4000 500 300
DCIP 150 169 900 900 5000 500 300
DCIP 200 220 900 900 5000 500 300
DCIP 250 272 1000 1000 5000 500 300
DCIP 300 323 1050 1050 6000 500 300
DCIP 350 374 1100 1100 6000 500 300
DCIP 400 426 1150 1150 6000 800 600
DCIP 450 477 1200 1200 6000 800 600
DCIP 500 528 1250 1250 6000 800 600
DCIP 600 631 1450 1450 6000 800 600
DCIP 700 733 1600 1600 6000 800 600
DCIP 800 836 1700 1700 6000 800 600
DCGIP 900 939 1800 1800 6000 800 600
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